ECON 2010

TA: Soojae Moon

Review Problems Ch. 6/Ch. 8
192 ( Chapter 6/Supply, Demand, and Government Policies


TRUE/FALSE
1.
A price ceiling is a legal minimum on the price of a good or service. F
2.
If a price ceiling of $2 per gallon is imposed on gasoline, but the market equilibrium price is $1.50, the price ceiling is a binding constraint on the market. F
3.
If a price ceiling is not binding, it will have no effect on the market. T
4.
If a price ceiling is below equilibrium price, the quantity demanded will exceed the quantity supplied. T
5.
Binding price ceilings benefit consumers because they allow consumers to buy all the goods they demand at a lower price. F
6.
The housing shortages caused by rent controls are larger in the long run than in the short run because both the supply of housing and the demand for housing are more elastic in the long run. T
7.
Rent control may lead to lower rents for those who find housing, but the quality of the housing may also be lower. T
8.
If the equilibrium wage rate is $4 per hour, and the minimum wage is $5.15 per hour, a shortage of labor will exist. F
SHORT PROBLEMS
1.
Using a supply-demand diagram, show a labor market with a binding minimum wage. Now, use the diagram to show those who are helped by the minimum wage, and those who are hurt by the minimum wage.
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Those helped by the minimum wage are the workers who are still employed, but now receive the higher wage. In the diagram, those would be measured by the quantity of labor demanded at the minimum wage. Those who are hurt by the minimum wage are those who are now unemployed. These workers are measured as the difference between the quantity of labor supplied and the quantity demanded at the minimum wage. The perceptive student might note that the unemployed group can be divided into those who lose their jobs as a result of the minimum wage (the competitive equilibrium quantity of labor minus the quantity demanded at the minimum wage), and those who enter the market as a result of the higher wage, but cannot find employment (quantity of labor supplied at the minimum wage minus the competitive equilibrium quantity). The buyers of the labor (employers) are also worse off because they have to pay a higher wage for labor, hence, hire a smaller quantity.

2.
a.
Using the graph shown, analyze the effect a $300 price ceiling would have on the market for ten-speed bicycles. Would this be a binding price ceiling?

b.
Using the graph shown, analyze the effect a $700 price floor would have on this market. Would this be a binding price floor?


c.
Why would policymakers choose to impose a price ceiling or price floor?
a.
For this example, a $300 price ceiling would cause a shortage of 4,000 bicycles. A price ceiling is binding if it is set at any price below equilibrium price. Since the equilibrium price in the market is $500, this would be a binding price ceiling.


b.
For this example, a $700 price floor would cause a surplus of 4,000 bicycles. A price floor is binding if it is set at any price above equilibrium price. Since the equilibrium price in the market is $500, this would be a binding price floor.


c.
More than one reason may exist for policymakers to impose a price ceiling or price floor in a market. Often this is done in an attempt to increase equity.

3. Using the graph shown, determine each of the following:

a.
equilibrium price before the tax


b.
consumer surplus before the tax


c.
producer surplus before the tax


d.
total surplus before the tax


e.
consumer surplus after the tax


f.
producer surplus after the tax


g.
total tax revenue to the government


h.
total surplus (consumer surplus + producer surplus + tax revenue) after the tax


i.
deadweight loss

a.
$10


b.
$3600


c.
$2400


d.
$6000


e.
$900


f.
$600


g.
$3000


h.
$4500


i.
$1500

4. Use the graph shown to fill in the following table.

	
	WITHOUT TAX
	WITH TAX
	CHANGE

	Consumer surplus
	
	
	

	Producer surplus
	
	
	

	Tax revenue
	
	
	

	Total surplus
	
	
	


	
	WITHOUT TAX
	WITH TAX
	CHANGE

	Consumer surplus
	A + B + C
	A
	–(B + C)

	Producer surplus
	D + E + F
	F
	–(D + E)

	Tax revenue
	None
	B + D
	(B + D)

	Total surplus
	A + B + C + D + E + F
	A + B + D + F
	–(C + E)
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